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Instruction Time : 0
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In the study on ‘the effect of teaching method on students’ achievement',
teaching method is
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Dependent variable
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Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
‘Child 1s born with Language Acquisition Device’ 12 the basis for this theory
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6, o
Pl :u.m ol C;"O g:le

1.4

Vygotsky's theory
SR%e ﬁe’qﬂ H,C"Jc::urﬁ o

Feu

Paiget’s theory

o - — B -
Ealonniles .-u-cgo.ﬂ}::

Kohlberg's theory

L = m -
EEEEE:@? dPoso
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Instruction Time: 0
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Writing disability
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘Satish wants to start business but is not mitiating fearing loss’. The conflict

being faced by Satish 1s
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Approach — Avoidance conflict
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Avoidance — Approach conflict

s

g R _—

(Tl LT ALY wl wfad | ad i

2Ba?0 — Galion woandes
o,

4, =

Question Number : 5 Question Id : 7150531229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A student of Class 6 does not like his parent's style of interfering by imposing

conditions in each and every activity he takes up. Identify the parenting style

not liked by the student.
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Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Among the following, identify the sentence that indicates ‘Interest’
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Teachers of our school teach mathematies well
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Question Number : 7 Question Id : 7150531231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A student of Class 10 tried to solve a problem for several times. but could not

succeed. After sometime, an idea flashed and he solved the problem. This 1 an

example of
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Options :

classical conditioning
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Question Number : 8 Question Id : 7150531232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 1 Wrong Marks : 0

In teaching-learning process. the most active phase with respect to both teacher

and learner 12
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Certification phase
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Post-active phase
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Question Number : 9 Question Id : 7150531233 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which ammlg the following 1s true of the defense mechanism ‘Rationalisation’?
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A student attributed his failure in an examination to sickness he suffered

during examinations
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Feeling happy when Indian cricket team wins world cup
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A child who 1z caught while stealing, saying that ‘not only me, my friends also
stole money'.
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A student who 1s not good at studies performed well in sports
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Question Number : 10 Question Id : 7150531234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
One of the following does NOT lead to forgetting the learnt concepts
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Education that provides learning based on students aptitude is
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Content-centered

Teacher-centered
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Question Number : 12 Question Id : 7150531236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Chetana and Chaitanya are identical twins who are similar in all physical
aspects but Chetana has greater emotional contrel than Chaitanya. The
Principle of Growth and Development that best explains this 1s
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Principle of individual differences

Principle of continuity
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Question Number : 13 Question Id : 7150531237 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A child who purposefully throws objects to test their properties hke the sound
they make, belongs to this stage of Piaget's cognitive development
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Concrete operational
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Question Number : 14 Question Id : 7150531238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Koh's block design test 1s a
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Individual verbal test
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Question Number : 15 Question Id : 7150531239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In this level of Kohlberg’s moral development, child begins to make judgements

about right or wrong, good or bad depending on either avolding punishment or
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One of the following steps happens during the process stage of teaching —
learning
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Planning
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Question Number : 17 Question Id : 7150531241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the concept introduced by Lev Vygotsky
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Assimilation
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Question Number : 18 Question Id : 7150531242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Renu, a preschool child, after coming back from school pretends like her teacher
showing all the mannerisms of the teacher. According to Bandura. such
learning happens through

O, P8 arloe $4% Dobid @a::aéon. rBTe Dol BBA SN doed, &S
F"":CJD GinTed 8585550 Feno 08 Traiir $8od. polrTe Hsedo, Btndol) egfkdo

62 eoe a0
Options :

Dizcovery

on Ty
,l S i‘:"?‘-:\_-'c-.;_,_'tf'-:-a
U

Observation

oy E-
Ple e ]
2.



Conditioning
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Question Number : 19 Question Id : 7150531243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A teacher has planned for a dumb charades game for her class in a school event.
She divided her class into teams. Each team was given a chance to act out three
words. One person In a team acts out and others should identify the word. Two
teachers were judges for the game. The viewers who had attended the event
enjoyed the game. The Conative task in the activity 1s
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Acting out

Enjoying the game
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Question Number : 20 Question Id : 7150531244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A person’s motivation to learn gives him the required
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Question Number : 21 Question Id : 7150531245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following should teacher consider in selecting an individual or

oroup learning strategy for a given activity?
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Question Number : 22 Question Id : 7150531246 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A school student who was taken on a field trip came back and explained his
experience to his mother using only motor actions. The mode of representation
used here by the student as per Bruner’s theory
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Question Number : 23 Question Id : 7150531247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When it 1s said that a teacher should be sensitive, 1t implies
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Taking the side of weak students

Avoid doing hard physical work both by the teacher and students
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Understanding the feelings of students and make them comfortable
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Discourage disabled children with an intention that education may not
benefit them
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Question Number : 24 Question Id : 7150531248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the teacher related reasons among the following that invite misconduct

from students
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A) Sarcasm
B) Uninterested methodology

C) Too easy going
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Options :
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A.B & D only
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Question Number : 25 Question Id : 7150531249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the stage of Pre-natal development that has longest period
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Period of Zygote
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Question Number : 26 Question Id : 7150531250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A community worker has brought an eight year old un-enrolled girl to admit

into the school. As per the RTE Act, 2009, 1nto which class the girl has to be

admitted by the school?
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Pre-Primary
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Question Number : 27 Question Id : 7150531251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Thorndike’s Trial and Error learning experiment, the success of opening the

door of the box mnitially is
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Question Number : 28 Question Id : 7150531252 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Principle of ‘Extinction’ of Classical conditioning denotes
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the process of recovery of response spontaneously
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the process of gradual disappearance of the conditioned response
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Question Number : 29 Question Id : 7150531253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the NCF, 2003, formal introduction of yogic exercises should begin only

from this elass onwards
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Question Number : 30 Question Id : 7150531254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

From the following, identify children who show healthy development
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Options :

The children who are mentally healthy
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The children who have higher level of aspiration irrespective of their
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The children who always work without rest
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The children who follow the directions of parents inspite of not liking

those directions

Language I Telugu
SectionId: 71505342
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 71505366
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 7150531255 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)



Question Label : Comprehension

£0b Hoesdy $56 31 ol 35 585 &3 BHEeH 585 Sirrearen fhdodob.
5a) SrEmdo a8od Hrartedold FIEHaR
o
EBea- 80 1o B2E \oeP et omds
— L o = (=9
2hdrd %ol 28 Pdi8o enean P B HEHR
: A
BerfE i SrEho abHrSHd: JereEhs

Sub questions

Question Number : 31 Question Id : 7150531256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 7150531257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 7150531258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 7150531259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 7150531260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'hc_:"?'_“”‘r:}@@ $flf"i€éE¢ - cic.:.,'::i-r
Options
1. % Y3 Ink
5 2708 S0l
3 % DETOEET
{_.""_-_"lﬁl:.l‘_‘
4, % -
Sub-Section Number : 2

Sub-Section Id : 71505367



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 7150531261 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)
Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 7150531262 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 7150531263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 7150531264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 7150531265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 7150531266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 71505368
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 7150531267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 7150531268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 7150531269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 7150531270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 7150531271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 7150531272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 7150531273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 7150531274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 7150531275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 7150531276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 7150531277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 7150531278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 7150531279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 7150531280 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 55 Question Id : 7150531281 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 7150531282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 7150531283 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

& e TR B Oy st B B oy o £y A B W CVR B o

b — g - - T S ey A e . T o

OrCDarssras B8 TP M.e). 0 ’:'f_:l,'?.,.-ﬂ'.&._m.' ol PS50 odL%e)S Tiodyed 00
@

Options:

e -
SNy wte e

_t-" 3 AT
§ O L L) l.'\.: b :'
3. % e
e
ETES0

Question Number : 58 Question Id : 7150531284 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 7150531285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 7150531286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id : 71505343
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 71505369
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 7150531287 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (61 to 65)

Question Label : Comprehension

Read the following passage and answer the guestions from 61-65. Choose the
correct option for each guestion.

Marie Curie was one of the most accomplished scientists in history.
Together with her husband. Pierre, she discovered radmm, an element widely
used for treating cancer, and studied uranium and other radioactive substances.
Pierre and Marie’s amicable collaboration later helped to unlock the secrets of the

atom.

Mharte was born i 1867 in Warsaw, Poland., where her father was a
professor of physics. At an early age. she displaved a brilliant mind and a blithe
personality. Her great exuberance for learning prompted her to continue with her
studies after high school. She became disgruntled, however. when she learned that
the university i Warsaw was closed to women. Determined to recerve a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French

university, where she earned her master’'s degree and doctorate in physics.

Marie was fortunate to have studied at the Sorbonne with some of the
greatest scientists of her day, one of whom was Pierre Curie. Marie and Pierre
were married in 1893 and spent many productive years working together in the
physics laboratory. A short tume after they discovered radium, Pierre was kalled
by a horse-drawn wagon n 1906. Marie was stunned by this horrible misfortune
and endured heart-breaking anguish. Despondently she recalled their close
relationship and the joy that they had shared i scientific research. The fact that
she had two yvoung daughters to raise by herself greatly increased her distress.

Curnie’s feeling of desolation finally began to fade when she was asked to
succeed her husband as a physics professor at the Sorbonne. She was the first
woman to be given a professorship at the world-famous university. In 1911 she

received the Nobel Prize 1n chemistry for 1solating radmum.

Sub questions

Question Number : 61 Question Id : 7150531288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Based on the passage. identify the correct statement.
Options :

Marie Curie along with her husband discovered an element widely used for treating
1.« cancer.



> % Marie Curie was born in 1867 in Warsaw. Scotland.

Marie Curie’s father was a professor of mathematies.
3. %

Marie and Pierre were marnied i 1896.

Question Number : 62 Question Id : 7150531289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“Despondently she recalled their close relationship and the joy that they had shared in
scientific research.”

What 1s the meaning of the word “Despondently™?
Options :

- Happily

Tubilantly
- )

Joyously
e

Sadlv
i 3

Question Number : 63 Question Id : 7150531290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



As per the passage. the term *Sorbonne’ refers to

Options :

a British university.

an American university.

a French university.

4 % 8 German university.

Question Number : 64 Question Id

: 7150531291 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the passage. the couple Marie and Pierre had

Options:

TWo so1s.

two daughters.
2. %

3 % oneson and one daughter.

4 % three sons,

Question Number : 65 Question Id

: 7150531292 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

On the basis of the passage, Marie Curie won Nobel Prize in
Options :

Medicine

5 % Literature

3 ¢ Chemistry

Peace
Sub-Section Number : 2
Sub-Section Id : 71505370
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 66 Question Id : 7150531293 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Who is standing at the gate?

Choose the correct option to complete the sentence.
Options :
a person

1. %

> % 411 person



the person
3¢ P

person

Question Number : 67 Question Id : 7150531294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The child was bomn Monday.

Choose the correct option to complete the sentence.

Options :

1 = of

o1

with
W

n

Question Number : 68 Question Id : 7150531295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The two countries are locking horns for the first time.

The meaning of the expression of “locking horns™



Options :
1@ fighting

> % enjoying together

s Journeying together

4% living peacetully together

Question Number : 69 Question Id : 7150531296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word.
Options :
safegaurd

1. %

> safeguard

3 % safegourd

4 % safeguord

Question Number : 70 Question Id : 7150531297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Recently the Governor a committee to review the curriculum.

Choose the correct option to complete the sentence.
Options:
have constituting

1. %

5 % had constitutes

3 % have constituted

4« has constituted

Question Number : 71 Question Id : 7150531298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct option in which the jumbled words are ordered.

that/All/is /neither gold /glitters / nor silver

Options:

1@ All that glitters 1s neither gold nor silver.
All that glitters 1s nor silver neither gold.

All glitters that 1s neither gold nor silver.

All 1s that ghitters neither gold nor silver.



Question Number : 72 Question Id : 7150531299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Time and tide wait none.
Choose the appropriate word to complete the sentence.

Options :

1 % since

for

during

4. ® ill

Question Number : 73 Question Id : 7150531300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

Who book 15 this?

A B : D

Options:

A
1.+



Question Number : 74 Question Id : 7150531301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The visitor said to the conductor. “How will I reach the station?”

Choose the reported sentence.
Options :
The visitor asked the conductor he how would reach the station.

1. %

> % The visitor asked the conductor how he will reach the station.

The wvisitor asked the conductor how he would reach the station.

The visitor asked the conductor how he would reach the station?

Question Number : 75 Question Id : 7150531302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The patient 1s responding to treatment.

Choose the correct question tag.
Options :

1. 1sn’t he?

15 he’

3. % aren’t they?

_ wasn't he?
4. %

Question Number : 76 Question Id : 7150531303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the following statement,

They asked him he was attending the meeting or not.
Options :

1 % where

weather

3. % then

4, if



Question Number : 77 Question Id : 7150531304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

his disability. the athlete achieved excellence m his life.

Choose the appropniate phrase to complete the sentence.
Options :

1« In spite of

> % In event of

3 % Incase of

4 % Inthe event of

Question Number : 78 Question Id : 7150531305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The deceased former President was with full state honours.

Choose the correct option to complete the sentence.
Options:

creemated
1. =

» crimated

3 o CIema ted



4. % crematid

Question Number : 79 Question Id : 7150531306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

“In politics there are no permanent foes.”

Identify the antonym for the word “foes™ in the sentence.
Options :

1 % enemies

> % antagonists

3 % detractors

4 friends

Question Number : 80 Question Id : 7150531307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.
A. What’s happened?

B. Unfortunately, the old man his leg in an accident.
Options :

has hurt



have hurt

3 % has hurts

4 % has hurted

Question Number : 81 Question Id : 7150531308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option regarding the following sentences.

I am eligible for lecturer post. I have qualified the UGC NET.
Options:

Though I am eligible for lecturer post. I have qualified the UGC NET.
1. %

. I am eligible for lecturer post. so I have qualified the UGC NET.

R have qualified the UGC NET. so I am eligible for lecturer post.

4 % I am chigible for lecturer post. yet I have qualified the UGC NET.

Question Number : 82 Question Id : 7150531309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the word in which the letter ‘b’ 1s pronounced.
Options :

1. @ dﬂbt

> ® doubt

3 % subtle

4 lobster

Question Number : 83 Question Id : 7150531310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct Passive Voice sentence for the given sentence.

The convict has finished the sentence.
Options :

| % The sentence have been finished by the conviet.

The sentence has been finished by the conviet.

3. % The sentence has being finished by the convict.

4. % The sentence had been finished by the convict.



Question Number : 84 Question Id : 7150531311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the following sentence.

Last year. they New York.

Options :
visited

1.4

5 % have visited

are visiting
M Lo

had visited

Question Number : 85 Question Id : 7150531312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The strategy of reading a text quickly to get the main ideas 1s known as
Options :

1. % Scanning

Summanzing

3 ¢ Skimming



4 % Scatfolding

Question Number : 86 Question Id : 7150531313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The following statement appropriately supports the philosophy of Learning without burden'.
Options:

Increase the number of subjects to be taught at school level.

5 % Increase the weight of textbooks and children's school bags.

Remove the use of textbooks n teaching and learning.

Make the learning a joyiul experience and remove the stress of examinations.

Question Number : 87 Question Id : 7150531314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What 1s the first stage of designing syllabus?
Options :

Deciding on course content

1. %

5 % Suggesting teaching strategies



3 % Evaluating the course and learners

4+ Leamer description and needs

Question Number : 88 Question Id : 7150531315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

*The children have to read one reading text (other than text book) such as story, news report.
article. etc.. comprehend and express their opinion in oral and written.’

Identify the Formative Tool linked to this activity.
Options :

1 % Written Works

5 % Slip Test

3 Read and Reflect

4 % Project work

Question Number : 89 Question Id : 7150531316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A repetition of similar sounds in the final stressed syllables and any following syllables of
two or more words 1s called



Options :

1 % Pitch

Tone
®

3 % Phoneme

4 Rhyme

Question Number : 90 Question Id : 7150531317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A language teacher of class 7 conducts different language activities and tasks to assess the

students during the teaching and learning process.

This assessment 15 called
Options :

Summative assessment

Formative assessment
2. ¥

Term end assessment

4 % Proficiency assessment



Mathematics

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 91 Question Id : 7150531318 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A painter wants to paint a building of height 6m. He needs to reach 1.2m below the
A paint ts to paint a building of height 6m. H s t h 1.2m below t}

top of the building to paint. The ladder makes an angle of 30" with the ground,

then the length of the ladder (in meters) is

2.8 onoéd 6 .S:J;f'a:-ti} )@ &3 &darRg Soid Ioireddon Joil TN
2 ol 1.2 ot God 3850 I3 s 300 T, & 336 A0S
(eoérde”)
;
Options :
12

1. %

71505344
4

Online
Mandatory
30

30

30

Yes

0

1
71505371
Yes

null
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Question Number : 92 Question Id : 7150531319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the centroid of a triangle formed by the points (k +6,2), (7,3), (6,1)1is(7,k),
then k =

Hothden (k+6,2), (7,3), (6,1)3 5T Beheso G0E) H08E; Soo (7,k) mond k =

bl it

Options :

Question Number : 93 Question Id : 7150531320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Sum of the exponents of the prime factors of 2024 1s

¢ ¢ T S ey ! g Y TET o e i
2024 ':'_J:‘-.i.sé,_ :@Eﬁ SROgTR OSSR )RR 4060

Options :

Question Number : 94 Question Id : 7150531321 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the length of a diagonal of a square 13 6 cm, then the perimeter of that square (in

centimetres) 1s

L,

Wt ed (0.0, of°)

£l ot ot =TT £ o oy o & s A " A T
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o E

)
& T

Options :

6 2
1. %

l-_"-'\,-"E
2. ¥

24



Question Number : 95 Question Id : 7150531322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If the sides of a triangle are produced in an order, then the sum of their exterior

angles so formed 1=

2.8 Bheaio G dhreh Bdand” PEACDN, B3t 08,68 art) rie:Bere dndo
Options :
o

90
1. %

180
2. %
5 % 270
4 o 360°

Question Number : 96 Question Id : 7150531323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

5x* + x% —5x — 1 and x® — 3x% + 3x — 1 have a common factor (x — @), then the

value of ‘a’ 1s

bx? +x%2 —5x —158d x3—3x% + 3x — 1 © 65,8 s¥eroBo (x — a) wond, ‘@’

o
Uo) ol
a



Options :

1.8 1
1
2. %
"
3, % ©
4. % 2

Question Number : 97 Question Id : 7150531324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In AABC, right angle is at A, AB = 7em and £ACB = 60", then the value of

BC + AC (in centimeters) 1s

[l m
T e L T i =
2Ens |: notlanédd” J

Options:

7
1.% V3



Question Number : 98 Question Id : 7150531325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose an INCORRECT statement related to cube numbers from the following.
Bob EE° 8 Sogped donofod) S8R D dothE ok

Options :

Cube of an odd number 1s an odd number.

r
-

e T e et oy SoSe
0 oo WO Coll) clmEe 0osa3tin,

2' ] ) ) =4

There is no perfect cube which ends with 8.

s, ULy UL SLIED s LY P sy TRe ¥ 1)
8 & oo &8Gn: HDBIED 0D Do Hoks.
o &

3. v =
If a number ends with 5. then its cube also ends with 5.
4 % 2.8 HoPr 5 & wodo wond o "an;:?g’ 0N roy: BPTe 5 & wodo deob

Question Number : 99 Question Id : 7150531326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



An essay writing competition was held in Telugu and English. Out of 150 students,
55 students took part in Telugu, 60 in English. 25 both in Telugu and English, The

number of students who participated in neither Telugu nor English 1s
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Question Number : 100 Question Id : 7150531327 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mean (average ) height of three students 15 145cm. One of the students Kamala

height 13 135em.The other two students, Geetha and Sudha have the same height.

then the height {in cm} of Sudha 12

[

é))ﬁgtﬁ; AR 0éD 2 145 Dok, 0E° Bihe Q@ 135 o.h. Hbdm HADY 30

=5

E'in Lfﬂ

b.06)

L

Aesthen N, 5t © aien Jiirdo wond, S 28 (o,
Options :

| % 160



3 % 145

4, #

Question Number : 101 Question Id : 7150531328 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There were 3725 students enrolled for an online course during last year. This year

enrolment 1s decreased by 4%, then the number of students enrolled for the course

this vear 1a

c v
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N noad Do 37235 $0ob TP IeD 8w 5 ‘\i 7 QelPC) DedHP0. 8 00 0o warid
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Options :

76

h

1.¢ 3

5 % 3600

Question Number : 102 Question Id : 7150531329 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A vessel in the shape of a cuboid 15 50cm long, 15cm breadth and 12em high, then

the number of liters of water the vesszel can hold 1is

(15
29
e}

w ~_~. ‘ e e i v s
80 o o3 ﬁm ar ﬂ‘_‘& 50 2080 &S, 15 o2 wteny w8 12 Do.abh o)
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Options :

1.¢ ?

, 90

000

4 % 9000

Question Number : 103 Question Id : 7150531330 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose a quadratic equation from the following with —1 and 6 as the roots.

Bob BE° So0d —1 HBAM 6 Sureren SOAS 830 HehB8erd) sloihS ok

Options :

2_5x+6=0

2 4+5x—6=0

:Yes



¥ —-5x—6=0

4 % X2 +5x+6=0

Question Number : 104 Question Id : 7150531331 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements related to trigonometric ratios.

©5°sdach e Sonobod) H08 Ry /o JothEol.
A) If A =B, thensinA = sinB.
A = B wond sin A = sinB.
B) If A =B, then cosA = cosB.
A =B wowons cosA = cosB.
1 » 4
C) sinA = for some value of angle A.

NN . 4
S0 A A0E; od Jend sinA = 3

A only

i E{.:,T:“!!’E".J
v ST
B only

) "?1"

5 % B smEss

A and C only
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B and C only

Question Number : 105 Question Id : 7150531332 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose correct statement /s related to properties of numbers.
Qoo HomeH Sonohod) 508 e /e D00l
A)  Set of rational numbers is closed under division.
0SBBaD Sogge $B Yo SEp; Hodys ool arei08.
B) Set of integers excluding zero iz clozed under division.
Roay 855 oA FrPdoge S8 eriiEdo By Soyd Foog 808,

Choosze the correct answer.

Dl s v T WL
w@ﬁ Jol P LR eI ey aJOTOS ot

Options :
Both A and B statements are true.

_— A $:665 B Botd argmgen Hab

Statement A 1s true and Statement B 1s false.

P L . 3 < g e
ey A Héco 590800 g B e0k&ro.

Statement A 1= false and Statement B 1s true.

seogp; A @00 5080 ey B Hero.
j o 2 )



Both A and B statements are false.

A 560 B Cotd arpgpen &8s

Question Number : 106 Question Id : 7150531333 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A pair of linear equations in two variables are consistent if the two lines are

Bots StTedhedt 86D SHEtere s Holido Pareol & Tyen SeP Somd)

A) Intersecting lines

)

PO 8‘-" en
B)  parallel Iines
Harods Tye
C) coincident lines

388 HEPEPaR) o8 ol
Options :
A or B only

A B Birgs

B or C only
2. ® B éff:' C SJU-T’-‘,ff-}c?‘::

B only

ot =
B D'J'Jlf—-?:ﬂ:\.!

4.



A or C only

o s z—";
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Question Number : 107 Question Id : 7150531334 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The step deviation method for a grouped data 1s used to calculate
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Options:

the mid- value of a particular class
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Question Number : 108 Question Id : 7150531335 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If A ={x:xisaevennatural number less than 10}.
B = {x : x is a composite number less than 10}, then
A ={x: x 536 10 508 %3S 2.8 $6 Sires Hoay J,

B={x:xe38 10%08

(Eh
"'\
a

?.fx

Eﬁ

o,

?_-\

$o0ing Hopg}, wond
Options:

A and B are equal sets.

A 58 B en &35 Habéen.

A and B are disjoint zets.

A £8cin B en HdinE Slbéen.

A 18 the subset of B.
A B § FD;{'JM*’_‘F

A and B are finite sets.

4 A 5080 B en 385068 STneen.

Question Number : 109 Question Id : 7150531336 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rani borrowed 718,000 from a bank at a rate of 10% per annum. compounded

annually. At the end of 3 years § months. the amount she has to pay to clear the

loan 1s
errof ol e 718,000 o 10% ajﬁ Bénd SoH8oeR8 588 ©:3) 8inySmh.

r
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Options:
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Question Number : 110 Question Id : 7150531337 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

18 hemispheres of the same size are made from melting a solid cylinder of 36 cm

diameter and 8 cm height, then the diameter (in centimeters) of each hemisphere

15 (Take = %)

36 20.5. P00 20B0ID 8 0.5 oy Bodar o a8 ol Eflrgéo?l £8A0d) o8 HB:rmo

s e O S S L P -, ¥y et (e s
fo 18 offfrer dairth dobatron, wond @8 @ffido G o (Robhels’)
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Options :



Question Number : 111 Question Id : 7150531338 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

}Dg?zg 81 + lﬁgz 0.0625 =
Options :

10

Question Number : 112 Question Id : 7150531339 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

122 + 132 + x2 = (x + 1)%. where x > 0, then the value of ‘¥’ is
122 4+ 132 4+ x2 = (x + 1)?, 30t96° x > 0 wond X G0 Dens
Options :

| v 156



Question Number : 113 Question Id : 7150531340 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The angle of rotational symmetry of an equilateral triangle 1s

o i o A R o i SRR crh
L on o e e T A - e L = e
ol EF oI (e9glles0 QDS 508 - elod S ERD

Options :

60

’I_bé

2. % 90

3 ¢ 120°

4 % 180°

Question Number : 114 Question Id : 7150531341 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Raju and Ravi playing a chess game. The probability of Raju winning the game 1s =

i riesE e i
and the probability of Ravi winning the game 1s o then x =

X
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Question Number : 115 Question Id : 7150531342 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The direct proof in mathematics involves the following process:

oy

Nesdod” @l Jornes Sob 380D 0 dotnod:

Options :



Premises that lead to the conclusion

E’J

SnRoHD TBED erEmS BeS 5L

2. &

If the conclusion i1s false, then premises are false.

Z s AT L oy Lol
cT'JJ.,'J:']O&# @D.,_',&, Sons, [pdes Q:\-} ‘i"‘;'o.:_ﬁm

3. %

Giving a counter example to show the statement 1s false

4 % |‘_/‘ P-J"\Hil '5 b c\.-' Li.- 1-.-'-..'- "‘Jé :'(‘.r’.-li-J 'Limﬂ_- .-‘EE' 1_=.l:u '.:._":'

Question Number : 116 Question Id : 7150531343 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
How can ICT contribute to students' mathematical learning?
Drrgthe Hdd oiaeds ICT der Bsrthiddos?
Options :
By providing printed textbooks.

sbes ““‘35 2JH5Red @oboiito TrTe

By facilitating rapid assessment feedback through software.

= . __:," o — F A oy ™ o Ty e B B
P50 TRTE diidloddd shhod egerdird, $638 ddhtio e
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By organizing mathematics competitions outside the school.
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4. %



By encouraging students to write essays about mathematical concepts.
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Question Number : 117 Question Id : 7150531344 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The main objective of summative assessment 1s:

o A P WY : ;
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Options :

Continuous feedback

MY el Ot B
cJOOS 0 o200
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Continuing rote memorization

Provizion of information

et @y y o
RoPPTP) @oboditio

3. ¢
Final decision-making for end outcomes
4. % 208 HdFre 5o &b Jfdho &8 HEo

Question Number : 118 Question Id : 7150531345 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which National Curriculum Framework was prepared Based on the
recommendations of the National Education Policy 1968?
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National Curriculum Framework 1975

S‘ & " a
1.« &) oo el e85 ?.h|,.,J'CJ 19?"

National Curriculum Framework 2005
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PR D reoesr88 Higoo 1970

3. %
National Curriculum Framework 2000
"“"t?(jc‘.; oIt '-:.- @ ,»I £30 EDOD

4. %

Question Number : 119 Question Id : 7150531346 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the revised Bloom's classification of teaching objectives, it was introduced

mstead of the synthesis objective:
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Question Number : 120 Question Id : 7150531347 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

When 1s a hypothesis considered generalizable?

D08 i3t AP sBoSSRARGMTT HBNBoNnthoh?
Options :

When the hypothesis 1s proved false
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When the hypothesis is true

T T T L T
BSera ceo '?':':"_u_n:\_l*:u_l,l’h-'

4. V‘"’ o — o (T

Science
SectionId: 71505345
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 71505372
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 121 Question Id : 7150531348 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which iz NOT an application of artificial satellites among the following?
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Remote sensing
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Weather forecasting
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Question Number : 122 Question Id : 7150531349 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Bramah Press works based on the principle of
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Options :

Archimedes
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Torecells

Question Number : 123 Question Id : 7150531350 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Among the following. the regions where the density as well as pressure are high
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Options :

Compressions and Crests
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Correct Marks : 1 Wrong Marks : 0

Identify the Nuclear fusion reaction among the following.

% P A - o T o
Sob & Soi838 Hoddo 8D rbBoiiol.
Options :

*H + iH — 3He + in + energy

v H+3H — 3He + gn + ¥8

235U + in > '22Ba + JiBa + 3}n + energy
23U+ tn > 22Ba+ iBa + 3jn + £8

’H + ZH — 3He

iH + iH — SHe + ;n + energy
iH +iH - JHe + jn + 58

Question Number : 125 Question Id : 7150531352 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Ohm’s law 1s valid for which of the following?

:*C'{_‘ _":":,.-"C“ f.on vw Eﬁ)O ﬂ."',.-:a'fl-c O{_J}
Options:

metal conductors
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gaseous conduectors
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Question Number : 126 Question Id : 7150531353 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

During calcinations,
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Oxide 1z converted to its carbonate
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Carbonate iz converted to its oxide
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Oxide 1s converted to its hydride
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Question Number : 127 Question Id : 7150531354 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identafy the correct pair of thermo plastic and thermosetting plastic regpectively

c;af i‘"‘%ﬁ 5 shBdio c‘-j-%*‘ 33%% Q0% Eos® &t es88ad B0
Options :

TV cabinet, Tooth brush handle
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Question Number : 128 Question Id : 7150531355 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The lowest temperature at which a substance catches fire 1s called its
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Initial temperature
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Ignition temperature
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Abnormal temperature
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Normal temperature
P
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Question Number : 129 Question Id : 7150531356 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

An enzyme that causes the surface of an apple to change colour when 1t 15 cut
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Isomerase

Tyrosinase
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Question Number : 130 Question Id : 7150531357 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Convert 20 g of Oxygen gas (02) into mole
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1.25 moles
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0.625 moles
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Question Number : 131 Question Id : 7150531358 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement among the following
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Options :

Electro positivity decreases from left to right in groups.
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Non-metallic nature increases from top to bottom in groups.
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Metallic nature increases from top to bottom in groups.
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Electronegativity increases from left to right in groups.
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Question Number : 132 Question Id : 7150531359 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The shape of NH; molecule 15
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Options :

Tetrahedral

Trigonal planar
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Trigonal pyramidal
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Question Number : 133 Question Id : 7150531360 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

When a child is in mother’'s womb, RBC are formed in
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Bone marrow of long bones

Liver only
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Question Number : 134 Question Id

: 7150531361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Seed dispersal of this plant / tree
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Question Number : 135 Question Id

1s NOT through wind
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the endocrine gland from the following
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Question Number : 136 Question Id : 7150531363 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The tiny cellular bubble like structures in the ovaries of female reproductive

system, where ova are developed
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Fallopian tubes

Graafian follieles

Bt B oy
r :**-:.,.:'f-_n-v ol e/ SE
LUt

2. ¥

Endometrium

o i-\d:\:_\. -
o0 -ﬂJJ@;'TL\JO

Oviduct

o (o4
EOC0lFolS

4. %

Question Number : 137 Question Id : 7150531364 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The process of development of young organmisms directly from unfertilized

gamates 1s known as
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Regeneration
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Question Number : 138 Question Id : 7150531365 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 1 Wrong Marks : 0

Bone 1 a connective tissue. Two bones can also be connected to each other by
another connective tissue called
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Question Number : 139 Question Id : 7150531366 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The temperature maintained by our stomach 1s
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Question Number : 140 Question Id : 7150531367 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Endemic Skeletal Fluorosis was identified in this district of Telangana

"".\

oo P sl e s _}-f_ ,—-.:, = o i

B0 ol 53 :5% NLH CL /iar0sdd oo dosnodd 0w | Lom 260d
u"
'

Options :



Hvyderabad

Felatoct:vela

Nalgonda

e ol
3. ¢ '

3

=

Adilabad

Question Number : 141 Question Id : 7150531368 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 1 Wrong Marks : 0

During mitotic cell division. chromatids elongate, become invisible and replicate

to become chromosomes during this phase
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Prometaphase
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Question Number : 142 Question Id : 7150531369 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 1 Wrong Marks : 0

An active immune system recruits many cells to the affected tissue to kill the

disease causing microbes. This recruitment process is called
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Question Number : 143 Question Id : 7150531370 Question Type : MCQ Option Shuffling : Yes
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Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Ginger and Turmeric are modifications of
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Question Number : 144 Question Id : 7150531371 Question Type : MCQ Option Shuffling : Yes
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Fibrous root system is seen in this plant/tree
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Wheat
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Question Number : 145 Question Id : 7150531372 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following can be used to collect evidence of student learning progress
and communicate it to thelr parents. community, and relevant authorities?
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Learning outcomes
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Question Number : 146 Question Id : 7150531373 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

While writing the unit plan this information should be written under the heading
of ‘teacher’s notes’
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Question Number : 147 Question Id : 7150531374 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Full Form of INSPIRE
INSPIRE Ging, o8 &rdo

Options :
Inspiration i Science Pursuit for Innovative Research
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Question Number : 148 Question Id : 7150531375 Question Type : MCQ Option Shuffling : Yes
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The behaviour of a student who follows the lab procedures in compliance to the

lab manual relates to this objective
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Question Number : 149 Question Id : 7150531376 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The approach to curriculum in which topics will be organized in such a way that
1t finds a place in different classes of a course in a progressive manner
g (Herds Gng) & aSidos® o8 5t momed DY E8iMed® Eirdidomr

'3'"63(:' f""" o
Options :

1. %



Topical approach
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Concentric approach
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Question Number : 150 Question Id : 7150531377 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following in Edgar Dale’s Cone of Experience 13 more abstract?

. o

1 4 - == 2 ; -, i I T L
Eob rdld” esd Go g edhdaee SowdS” J5S BrdHds 267
Options :

Verbal symbols

Oy ol ot = 9
TS cdOSEERED

1.v¥ 8



Exhibits

o 0% Benaden

Demonstrations

@G 8en



